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3. Two randomly selected groups of citizens were exposed to different
media campaigns that dealt with the image of a political candidate. One
week later the citizen groups were surveyed to see whether they vote the
candidate. The results were as given in the table.

Exposed to | Exposed to Moderate

Conservative Image

Image
Number in sample 100 | 100
Proportion for the 0.40 ‘ 0.50
candidate

We seek to test the hypothesis.
P; = Proportion of those who were

exp osed to comservative image
that will votefor the candidate

P, = Proportion of those who were

exposed to moderate image
-thatwill votefor the candidate
H,p;<p, a=0.05
H, p, > p,

Test Statistic:

Critical Region:

Calculations:

Decision:
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Calculate a 95% confidence interval for p

1 What would you say to manufacturers claim that at the mean lifetime is
‘ at least 20 days?





